Meeting 10 September

10 Runs for Coh Edge at 1.7 GeV

54300-54311
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Mumber of Entries

1.008-1.104 GeV

ProjectionY of binx=[63,68]

slice_py of Th7
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1.104-1.2 GeV

ProjectionY of binx=[69,74]

3 220 T Esrl*:tcn.‘ge_sw_m_;E}TE
{5720 EMSSSE SN SUSSUUSHIS S WU WSS SN S - Mean 0.5688
= m RMS 0.134
%_J ] 1 | e e
E 16{];_ ........................................................................................................................................................................
1773 RSSRIES RPSRSSRSI SSSPIN 1555 SIS S WSS WSS SN -
120 f_ .............. COUURRRUS VRN 1 ) IO O EE EHTOS S e,
00 N
SIS U TN T U W N S S
600
20 SO
ARSI TR U N R
R [ T A T I

i) 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8
im{xn* ) [GeVic?]



Mumber of Entries
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ProjectionY of binx=[75,80]
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1.296-1.392 GeV

ProjectionY of binx=[81,86]

slice_py of Th7
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1.392-1.488 GeV

ProjectionY of binx=[87,92]
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1.488-1.584

ProjectionY of binx=[93,98]
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1.584-1.68 GeV

ProjectionY of binx=[99,104]
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1.68-1.77/6 GeV

ProjectionY of binx=[105,110]

slice_py of Th7
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Mumber of Entries

1.776-1.872 GeV

ProjectionY of binx=[111,116]
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1.872 — 1.968 GeV

ProjectionY of binx=[117,122]
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